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AQA - Quantitative Chemistry — GCSE Chemistry Paper 1

1. June/2021/Paper_1H/No.6
Metal oxides are produced when metals are heated in air.

A student investigated the change in mass when 0.12 g of magnesium was
heated in air.

Figure 5 shows the apparatus.
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The student measured the mass of magnesium oxide produced.

m 0.12 g of magnesium reacted to produce 0.20 g of magnesium oxide.

Calculate the number of moles of oxygen gas (O3) that reacted.

Relative atomic mass (4;): O =18

[3 marks]

Moles of oxygen gas =
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@ The student repeated the experiment without a lid on the crucible.

Suggest why the mass of magnesium oxide produced would be different without a lid
on the crucible.

[2 marks]
. Copper reacts with oxygen to produce copper oxide.
63.5 g of copper produces 79.5 g of copper oxide.
Calculate the mass of copper oxide produced when 0.50 g of copper
reacts with oxygen.
Give your answer to 3 significant figures.
[3 marks]
Mass (3 significant figures) = g
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. E Iron reacts with oxygen to produce an oxide of iron.

0.015 moles of iron reacts with 0.010 moles of oxygen gas (O2).

Determine:
¢ the formula of the iron oxide produced

¢ the balanced symbol equation for the reaction.
[4 marks]

Formula of iron oxide =

Balanced symbol equation




